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PyHKUUA Y =COSX
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YHKUUSL Y = COS X
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PyHkuust y=cosX
CBoiicTBa PYHKIIUMH:

1. D(y)=R.
2. E(y)=[-1;1]
3. @PyHKUusa nepuoanyeckasn; T = 21
4. @PYHKUMA YeTHaA.
5. COSX =0npv|x=“/2+1Tn,nEZ,nEZ.
6. PYHKUMUA BO3pacCTaeT Ha
[ T+ 21Tn; 21T+ 2TTN], NE€Z,
yObiBaeT Ha
[ 21Tn; 1T+ 2TTN], NEZ.

7. cosx>0
npu -“/2+2Trn < X< 1T/2+ 21Th, nE€Z;
cosx<0
npu 7/ +21n <x<3“/2+ 21Tn, nEZ

8. Hambonbluee 3HayeHue PyHKUUNy = 1;
HanMeHbluee 3Ha4YeHue PyHKuumny = -1.



//‘ padpuk pyuKImu y = cos(x + b) r

y = COS(x -11/2) |
(y = sin x)
y = cOs X




/% I'padpuk PpyHKIUM Y = cos X +b r







